+

G (—40)
Eell ESESE LY
V= 130.40 X  0.10 = 13.04  m3 13.0
((==n
PR
(A7) V= 8. 20 = 8. 20
(ZE7KHt) V= 2.48 = 2.48
(2v 7 Y—}+TI) V= 0.74 = 0.74
= 11.42  m3 11.4
W
(A7) V= 4.72 = 4,72
(FE7KHt) V= 1.26 = 1.26
= 5.98 | m3 6.0
ALY
V= 13.04 + 11.42 - = 17.82  m3 17.8




B K # E& P LT
U
3FE300A
Ximd v
L= 20. 50 20.50 | m 20. 5
R (ERE)
Xid v
V= 20.50 X 0.40 8.20 m3 8.2
M ()
Ximd v
V= 20.50 X 0.23 4.72  m3 4.7
AN
a7 U—Fh
3fE300 N= 39. 00 39.00  #% 39.0
TJVv—F 7
izt T-25 N= 2.00 2.00  H 2.0
T ¥ A MEKHE
500X 500X 800 |N= 1.00 1.00 & 1.0
RAE (ZEK M)
Ximd v
V= 1.63 X 1.52 2.48 | m3 2.5
MR ()
Ximd v
V= 0.83 X 1.52 1.26  m3 1.3
o sy —h X &L Y
18-8-25BB A= 0.10 X 20.50 2.05 | m2 2.1
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1. UBRUAIE

m
(37, 300A) = 10.000 10. 0
2. )AL (1:3)
m3
0.36 X 0.03 X 10.00 = 0.108 0.11
3. FLEEAT (RC-40, t=10cm)
m2
0.56 X 10.00 = 5. 600 5. 60
4. FLmiEIE
m2
0.56 X 10.00 = 5. 600 5. 60
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CUREBALEE (=27 U— | 18-8-25BB)

0.495 X 0.520 X 0.150

it S A
0.495 X 0.520 X 2.000
0.495 X 0.150 X 2.000 }
5
. VRS AR (RC-40, t=10cm)

0.56 X 0.1b5

OO O

. 039

.515
. 149
. 663

. 084

. 084

IEFTHE Y

m3
0.04

m2
0. 66

m2 |
0.08

m2
0.08
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1. UBUEIE T/ (3%, 300)
1-1. 7 v—F o 7#&EWN)

20.5  10.00

1-2. a7 —K2#(A)

20.5 , 0.50

JV—F 7 EE T, MHEET D,

2.05

39. 00

39

39

1040

%

39




£ K T

(500 X500 X 800)

1. 7% ¥ A MEKPE  500X500 X800

M HASHHRY & 7 L —F I &

2.4 "—har 7 )—F 18-8-25BB

0.500 X 0.500 X 0.050 X 10.000

3.HMEa 7 U —F  18-8-25BB

0.820 X 0.820 X 0.100 X 10.000

4 JEfEm 7 ) — N

0.820 X 0.100 X 4.000 X 10.000

5. JeRERT (RC-40, t=10cm)

0.92 X 0.92 X 10

4, FmHEIE

0.92 X 0.92 X 10

10.

000

. 130

. 670

. 280

. 464

. 464

10354 9

pS
10. 00

m3
0.13

m3
0. 67

m3
3. 28

m2
8. 46

m2
8. 46




2 v 7 Y — T EHEE (—3% 1)
Sy )= T PER. R LD
18-8-40BB V= 0.63 X 0.53 X 8.20 2.74 ' m3 2.7
g
A= 0.63 X 0.53 X 2.00
+ 0.63 X 8. 20 5.83 ' m2 5.8
b
(v 27 Y—1}+T) Xk v
V= 0.09 X 8.20 0.74 @ m3 0.7
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q O O¥ I FH OB (7% 1)
T AT 7V MEET
FET HPEEAEREE LY
(topl3 t=50) A=  130.40 130.40 m? 130. 4
AT HPEEEREE LY
(M-30, t=130) A=  130.40 130.40 m? 130. 4




= A N
AR AR E= MO T
W 7% = & S i i & I it
A S 4 il = (m) ) RIS [T s ) RS [T e ) RS [T s
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO. 0 3. 50 3. 50
20. 00 3.25 65. 00 3.25 65. 00
NO. 1 NO.O + 20.00 3. 00 3.00
20. 00 3.00 60. 00 3. 00 60. 00
NO. 2 NO.1 + 20.00 3. 00 3. 00
P 1.80 3.00 5. 40 3. 00 5. 40
(NO. 2+1. 8) NO.2 + 1.80 3. 00 3. 00
&t 41. 80 130. 40 130. 40 0. 00
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W E W £ T £ (—#4 )
FETE U L T
SRR T B USEE K LY
(2> 27V—1}) L= 4.50 +  20.50 = 25.00  m 25.0
(t=15cmLL F)
s USRI OV R &0
CoB¥EL  Vi= 36.30 X 0.025 = 0.91 m3
(JE477) V2= 20.50 X 0.020 = 0.41 m3
V3= 15.00 X 0.100 = 1.50  m3
V4= 16.00 X 0.130 = 2.08  m3
= 4. 90 4.9
TERALEE T
T
(MEfHCo) (V= 4.90 = 4,90 m°® 4.9
WALy BOERE LY
(MEf5Co) V= 4.90 = 4,90 m® 4.9

HEALE (CEECo) AURL  HREE

[; 40,0202

CofEEtEL (EAD

S=1/20

g=1/100

7700

630 W=100

AT=15.0

A2=16.0n2
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